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The suet of a stoned ox will prove it — 27 PRt M S 12bn

OVERVIEW

The o°n0n argued that we cannot derive Y21 n9°7w from 7011 (even though they are
similar in that there is an X7 72°28 M0°R and N12 by both of them), since we see
that by the 2711 of a poi7 W (which is also N2 WYY X171 79982 MOX) there is
no 19°7% 21n. Our MBO0IN explains how the 7127 knew this.

nooIn asks:
- 99 17 1n929Wa NIPY MmN 999 N9 NN TYUN )2 PNYY 1929 NWPN

The RX'"2"1 asked that we should derive P07 MW 5w 12%n from =an that it too
should require ;7299w since it is similar to an1!

N1B0IN answers:
219951 Y23 %Y M1 KT NP

And the X"21 answered that 5p017 W 5w 1257 is not similar to "M, regarding
Y9300 ®a. Therefore we cannot derive 9017 Mw W 1251 from N,

SUMMARY
We cannot derive that 1"7w 5w 1251 is 79°W3, since is not similar to 701, for there
is no 17°XMn %2 by 1"nw Hw 12%n.

THINKING IT OVER

It is apparent that (even) at this point (where the o°non asked 5poi7 W Hw 12on
m°oy°), the o°non realized that 1"7w %W 1290 is not similar to 201 ([and yan] for
otherwise 1"mwwn should also be 79™Wwa 211), since there is no 1M 22 by
1"awwn; the question is how could the am3n offer a m2v from 1"nwwn if it is
different’ from 2mi and ynn?!*

' Why do the 0on assume that 9031 MW W 1297 is not 79w (so they use it as a 21 to refute the 17¥n a of *"),
perhaps (just as yan is 7973 according to ", so too) 2017 MW PW 1271 is also 79w for we derive it from n?!

? There is no rule in the 770 that we must eliminate the 5037 MW 2w 21 (as opposed to yun where the 7N writes
1nawn [and R¥n° 921 787 92]). See ‘Thinking it over’.

> We can make the 1°¥» 7 from 1M1 to ynn as the 8722 makes on &,13, where there can be no 11°21 from 1"wwn.

* See X"wn.
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